JQ&P- Uh (AT -?)
AME Yd ;. Uptd SR fawg

o Hifd® TR & Hifds d@

o Hifd® IR HT AFT & Y TEH

o foftm difde iR & g amfse | sfdes foramg
o HMT YA & WIT & AW

SIECERS RS

[T S Bl UPpfd

HHd DT UPABRUT TUT Tpfd BT ATAIBRUT
Upid Fggarg

o HYJ-dIQ

99 Fygare sryar @1 R el Hyware
J0g & YR R HHT Y

aHd Yid & &7 3R Iued

o HAUGAIG Td HHT Bl [daRYRT

o JMHAAIG! faaRYRT

o HPRAC! faaRYRT

1 3P 9 Uy




UY-1 YA Ueg HI Tauyd TN e 3R &e fopar o1 -
SW : A 7 HUG 220 I TGA |

Uy -3 19 df ¥l & IR URRE WS d<refl & AW Sdre e
SR: gWlee, ghx, de, STfa |

Y -3 OFd Y St & [FIRYRISH & A adrell |

SWR: SRS dYl JHAdEE! [GaRYRT, SMede! [daRYRT |
Uy -4 FIgRAG! fORYRT H  f69 W @R e ma g -

SR : ARG [ORYRT # UdE 3T o AY-TY A S, Weiid,
yf safe W ey T ST & figeda sy W e SR faar mr g |

UY-5 AMd YA B URUET & 2
JIW: YHT Yd A9 3R Tierol & URadd e deel o1 e § |

SYd[

IW: TE R g & Siqyeel @ OHd fid & ¥y o ugRuifda fear o
THal § |

Uy 6: Fygae &1 g -

IR: AFGE fparel R uaiaRer & fFEEm & Rygare @ 93 & ST godl @
|

Y 7: UMD WA & T qFd Y § {69 JeR gl § 2

IW: AFd & WR P e W, Wfde 9 aHd fhaet & amda
WA ¥ fog A Tupl & ®u H aftflg e Sar §

UY g: HMA WA 04 ddl & aR H &1 Il @al § 2
SR : Aol Hal, FT 3R HY o U & IR dRH B BRI Rl g




Y 9: 39 SI®G! WA I HI A Fast 9 7 d9H & OHd sfaeN W
US- dld UHId &1 el & iz

I Tl ghowd
Uy 10: A7 g Bt WIS F UY| B A BN BIG IS J w2

SW : Hadl, qTEG, A, AR PD |

3 3% I Uy

Uy 1:AFd Yd BT 3 qHTore O 9 &1 9 d § 2

IR - (3) Yg AMG Sigd & I ddl U W B W I9e o g F
Ty deYl HI AR Bl o

(@) Tg U UHfd H FHI 8¢ dF R fawdt g

() TE U IR vt F Ay B SR as B fJH™ HRar 7
Uy 2. M9 YNd Pt fafdy farurist &1 dau o aftfa &1 -
JR:  (30) PANWRSD qY HFdEG! fGTRYRT,

CIREIE SEICIEEIRCIN

(W) OIgRArG! faaRYURT
Uy 3: GURUE Fgmare |1 g 2 U SR & AT # TH IEERU d |

IW: AFGE fharefl m gailRe & qof o & waieruig g d1g &gl S
€ | SGeRU & dR W ofifew T H AW dicdl, faodl, 4Rt aul, §¢  au
Oipide ®Id I AT AT Fifb IU b1 HRU A ol Al

UY4: GRIAIE & o d&UNT Bl forar |

W 4-(3) -UPpldd TIRU Quid: A & oiiagd i FAfEd T8 axar g
§gd 9 GuTR off a1 ®




(@) -THa T €9 9 e fharfa § ey frariaar &t o o

() -AIF AT JAYT I ATWDHAl $ HIEU Bl T JUGAT B
IO IRl § |

UY 5: AMd Yid & &Ff & 489 § quiH &1 |
JIW 5 - (3) -GHIfe Ymd
(§) -T2
() -3f1fdep e
UY 6: SIS fagE F Siarid o ard fovg w9 ¥ § o
IR 6 :3 PN fOIE . oHifFHt 3.3feM ¥. 99 fogm y. .o fagm

Uy 7.79 FYgg-d1c B AHAT BT U B 2

IR 7 : (3) - R TR A U Yheudl & AU foar or |
@) -Feg-are g Jydare & HAY &9 P AR B AT § |
(@) -39 Ib! AR Wi Fygare W w1 ST §

(@) -cfthd dASc W IF IAUING § - TN Ib4 I, Uiell I ©®R
@ BT qUT B T I BT |

5 3P 9 Uy

UY-¢ A & UPHIADIU qUT Uphid & AHAIDIDHR DI ARST BRI 2
W -1 ~HI 1 UpIcIhI:

(3) -URMN® M H O &1 Wi a4l Whldd WU |

(d) - Upld &I gHdr fharstt wR g

(@) - I 3R dH-ld & WR B &7 g




(Z) - e b & TR BT URMNS gFT |
®) - SR UG I 89 709 & Weldd 8 adl Udhfd 4 ygvid g+ &t

HeoT B Thd g |
UPHid DI AHAHIHI
(3) - I8 WHING , GRplad d db-id! [A®bN &1 TR g

(@) -AFd a0 T I U B GHGATT ST BT ¢ |

(@) - OFd  IRpfae Y Waa [ffd oxar 8 | wFdg feaet & 99d &
RE 3@ o Thd ¢ |

(B) - UPA @R T T R UIW ITUS! YA Hdl ¢ R UPfA Bl

o

HIAl ObIObQUIEPf\IIIdI%|
UM - 2 AMd Yid & JUeHl &I quid d |
)  IdgRAIGl d

i)  GHISS H BT YN
i) DI B YA

iv)  Fipfde Ymd
V) fef ﬂfﬂﬂ
viy  UfdeiRie ymd

viiy  Tafeqar yma



TS USH- (ASATT_-¥)

419 o™
1 3P I Uy
¥.1 35.T4A.3M. (1.Lo.) &I faxd ¥ fafay |
3. TP 47 ST 1

U.2 A9 Ao & IR W™ fafk(e 1
3. IHAI, Idd UNUEdT, IdGHdl R IUfReRu 1
¥.3 UN.D.P @ fa¥gd ¥U faReu 1

3. TgH Y faer™ sRiBH 1
9.4 5 3 & 799 e Joeie Taiies § 2

3. 9@ 1

U.5 O9 fde™ & d?\li‘~ al ucd galel I

3. fem iR Wy 1

U.6 UN.D.PH GRI AAG AeN J@&died & Ugal Rulc fg a¥ & uailRe g3 2

3. 1990

g.7 fay o I= 099 fopN YEaie o § fodd <X oMd § 2
3. 57

3 3ip a1 Uy



U.s I TG b Yadhid daid IR R & AW foal 13w §9 fde™ &
fou Imerdt & HRO o 1

3. I [W@HIH ad o - (i) TG ( ii) IAREAS ( 1ii) SR ( iv)
ESEEUERS

3 JAhid & BRU :
(i) RET T IAR Haw |

((ii ) GHINS We U dgd oM Fowr |

(iii ) JoMfde IUgd 3R FRRAT T Wdd |

Y. o 9 g fob YEdie 9 IR oRN & AW ol 1 Y gEdie o fou
JWRER A BRuT forat 1

3. Fu qmeie 9 3w o (1) TRenEr  (ii) RN e (1ii) R
Lan|

(iv) A |

9 i & SRU: (i) JoFINdD IUSd (ii) IHEMGP SRRAT (i1i4)
Hblcl

(iv) ST |

U. 10 B9 fdeN bl &I HU- did iud §disy |

3. (1) W (ii) &M (11ii) IOEEI 9B UGH |

5 3{P qId UY

. 11 T HRU ¢ & Oy & o2 <M # 3= 9 9 799 oo @ais § -
JGIERUl Higd WE HiINT 1



3. fom <= & fRren, Wg g dWeA &1 @™ gef § SN 9UE 9= g o
o= ¥ g8 fasfd =81 81 urn § Uss om § O AR 8nfe 1

Y.12 TG 9o &1 T 359 &1 § 2 T AN & IR WHl &1 Iareul
Ifgd quiF P 1

3. W@ o™ @1 qa Iexy U qwiel @ Sww o3 @ oM an 9de
Wi did &R ¥ohd © 1

A9 fAp™g & IR WH:

(i) FHAl - SUPHT RE YAP dlad H IUas AR & o IHH Ugd
& AR FRAT § I

(1i) SUGPHAl- Idlchdl BT A A 4H Idehdl  Ydl AFG S &
Iy ¥ Idchdr § 1 A & &Edel &1 e e Wi Idgedr § R
gfg & T TRY 1

(iii) Odd_WuofiEdr- Idd owofigar 799 oo & frw smawue & &
Td% Uldl & IHH 3R Ud & 1

(iv) IfadRu- 30+ faped g & fou wfed wied &= 1 &N &t
TG0l & o YR U9 i@ Hifadl &1 Saadhdl gt & I

U. 13 A9 faerg &) uRyw ot 1 799 foorm & fftw Summl &1 quie
FHIT T

3. 79 e Wy, Wfde wiaRu, I dex offe, gmifvie iR Iomfae
WaAdl db It YR & TAd fasddl & Ifffad #kd gu drl & fasedl o
faarR SR I fRren g Jars aur gufeaeryr & gl # gfe 3t ufesa
&

419 fap & Iurm:



(i) Mg IUNTH- 3T HT TR Hdl aafed gRT Ut ST IgT Waadl & TR &l
URAfAT PaT § 1 3 BT TR ST 89 WR A9 b &1 TRt SI1 8 1

(1i) PNl SUNM- I8 IUNH e, W, qHifold Hedrol QRe&m iR qd
g W IFR WBR] I & db ol 8 I WPR HA W Hwad =99
TP TG oo & W # afg s & fou Smer g 1

(1ii) SMYRYA-ATAAGAT IUNTH- To-Yd SMaHAS B a1 W GR

foar T § 1 S9H ¢ gAdH SMaRuddrel - wWred, fem, Jagfid, Wwdr SR
3O B! Uga bl W B 1

(iv) &Wdl SUNTH- UMl b Ugd & & o HA19 emarsl &1 A dgd

Tea faer &t $oll § 1

¥.14 Tggd Sd-8P 3R A U9 g AU T oo™ & adbfcdd SPPIUr i
for @ ==f 3T 1

3. 3P WD dP fpdl U F AP & TR B FHad e gfg & Ted &
HUT SITdT 4T 1

(1) &t S & @M Shed @t TUERT &1 S SHE Ad §, S o AR
Iud § SR S Tadzamstt &1 3 Wi #d § I &1 "ew gof gy ® SR
3 T T Uegd Sde® 3R M ¥ &I 9 F Hed Juf § I

(1i) TGS Ide® & IUR 9o &1 T af & decdl # dgkl 9 §
difs 3 SMATHEH & Y " R WA Sia Sl 9 |

(1ii) 3Fd 99 4 f9p & &7 €9 Waaal § dfg 3ydl Waadr § wdi
¥ Y H W T I

(iv) 37 Nl &1 & Hld &1 TR § of dm & f9eg R g g
fodt Wt =9l @ g § a9 H I%d gU §




1 3iF 9 Uy

UY-1 b <X & GePRI PN &1 Ihd ol fear w2
JWR- STHD |

UY-2 Fal dt P N Hear § ?

SR- quidIe |

UY-3 Te R Bdl @I HY & fou oy & &9 @1 & ulkis § 2
IR- Y IR & |

Us-4 fbgl & e fobarell & JareRur difvg |

IR- RGR A, N, TScl greH, G4 |

U%-5 Ad-BleR e fHd Hed & ?

IR~ U fharepay § o ANl ol |

UY-6 Bq UIN Y FHed § ?

ITR- URUTAD] BT U4 Y3 & Y Bg & AR AR |




UY-7 99 & YR W bl @ @S snua g & 99 Sage |
IR~ dY T S T |
3 3% qTet Uy
UY-8 TH PN FT 8 2TH PV P ol AU FAT |
IR- TEHRI &t IR & F 3 99 It FN H-FN Hgard § 159D UgE
Hue el Ba onfg ¥
1% B 3R TR & T &I g8 ol Uh ¢ Id R H 0 &l gl ST
YR R IHH] AF <h Py @ T |
239 B T TSH! $I YA I AGRIS BT © |
Uy-9 S PN @ g v @ § 2
1399 YRS UYSH P UTel S dl §
2-3f% Uoll &1 SIS gl § Il
303 e & WM & fou w9\ &1 1 ifard §
4TSN P IW-XG R TG HA USal § |
508 I TR T4 i dsf & - &1 ot §
UY-10 T3 & SMYR W PN & UHR DHH-BH J § 20 B |

IW- 1-9gPRI - 90 P96 WBT ¥ U YH T 39 AU ThiAd
PP TEHN! TR Td g R Ha-g@ =W wmId I
ST, Hlerds, sfcsran,wiisT ud scell ¥ g8 Yhadl Yde Id @l § |

2 Afed PN- STH IAGT & WY & WHd A A HI gl § 3R
9 YHfgd €U H UM fhar ST § 11917 HI Hild & &g Alfgad I 7 34
AR | b U Y, Uy, o9 oG Tl IeHl Bl AR U dd
g |
gy-11 fay ¥ B I arell AU HY & AT d&oll B OrRem Hif |
IWR- 198 PN F3-98 AHR & B § Bl Sl © |

2-ayae fafdat &1 v fear S §




3-31f% goll o |
4 fRE STEN ard & d @t ol § |
5 3% a1l Uy
Uy-12 Ted fafg o ok fawga aiftsy s Y & sfaR samEE |
IWR- g fafg v .
1 Wdl BT MHR BIel BT © |
2- TR BT IUENT &9 Bl © |
3- Y &1 9 IuA A orar §
4 Ui IPIE IAGA 3P BT © |
5- PN FH IR F PG 9 URAR & g IR & |
faxqa aforsa s oY -
199 iRl & SMmaR® o Y ueRi H P oMl § |
2-9dl BT PR §gd 981 Bl © |
3Rl BT SUART St foram &rm §
A7 3PR IAGA HH Tl @ |
5-qa® & ¥ HN P ot § |
uy-13 fay ot e fopamsll # oo ux-urem @1 dfa & aufF Fifve |
IW- 1-UF & UPR & U U o d g |
2-BTH | BId 3 |
3G # U UIa aHe SMYR IR afyd fohar S § |

4390 ST & UoHH, oG gUR oGl )R AT ofe R ere e Siran
8

53D 3T goiial s, Seferdr onfg § |

UY-14 YALHATREY $N DI Th IGHT 3R AHBR TSR DI Y R FHem ol
82




IR-1 T8 & ffq AR uaR @t aftificos & 7 |

23R $ HN YOLATRY &7 &I fORwdr § |

3-3RI @1 A 3R 3¢ JEIR TddhT U9 G 98 od § |
4-3foiR Td o ot Tgl Uar forar S ®

5IRY 3R F.30.3MRBT F wal iR dfesat &t 7 3 & F T P o
T

UY-15 TAARN UR[ERU 3R J0U® URERU & SR §d=T |

JIR- TAd IEROT
1S R FRAr | 2 IRERT &1 9 ©R |1 3-Faig srierew |

ATE JABIHT Bt SHSIGAILGST U MG | 5- S UHR &I foharell & 3G
3RIPIY SR H HHIEA! T8I B Fbd |

qIvIoy® URERY -

1RE F8 d (W) | 2 UERT FT MYFE I W 3o
SrfaRT |

4 awr FHfeddia o9 F HAeH-NSUUN onfg | 5 -U8 U Ry fpar ®
,ora? Fad t & UHR & U Uil ST |







STUDY MATERIAL GEOGRAPHY 2017

I-BOOK TRANSPORT AND COMMUNICATION CHAPTER (8)

|. Choose the right answer from the four alternatives given below :-

1) The Trans-Continental Stuart Highway runs between : (1)
a) Darwin and Melbourne b) Edmonton and Anchorage
c) Vancouver and St. John's City d) Chengdu and Lhasa
) fR T foreel 3 & w8 SR IR |
IRHBTIAN TCaE HETRT fohieh #ed & ORI 8 7
®) A iR W)  USHCA 3R Ykt
M) A IR AT AT TR ) W IR
2. Which country ha the highest density of railway network ? (1)
a) Brazil b) U.S.A.
C) Canda d) Russia
o 391 A AT & SISl ST e ed 91T ST & 7
&) WeiA @) &R
T) g TS SRR ) 2w
3. The Big Trunk Route runs though ? (1)
a) The Mediterranean-Indian ocean b) The North Atlantic Ocean
c) The South Atlantic Ocean d) The North Pacific Ocean
3) 982 ¢ AN BIa S 2 |
) VA UNR 8T ASTENR | BT @) I ACANCH ABTENR & BIa
) fET ST HEENR | BT ") IR 9T AEEER ¥ BT
4. The Big Inch pipeline transports ? (1)
a) Milk b) Liquid petroleum Gas (LPG)
c) Water d) Petroleum
4) ‘fawrga’ urgy wEA & gan uRafed fhar S |
w) | v«
) & o A (LPG) T)  Ugiferm
5. Which one pair of the following places is linked by Channel Tunnel ? (1)
a) London-Berlin b) Paris - London
c) Berlin-Paris d) Barcelona - Berlin
A TAA SSAT 2 -
*) e - @) e - ARE
1) AR - v w) e - e

I~ 1) (&), 2 (W), 3 (&@),4 (7),5 (M)
2. Answer the following questions in about 30 words :

1) Whatare the problems of road transport in mountainous, desert and flood prone regions ?  (3)
Ans. In mountainous region like the Himalayas, there is steep slope and no level Ignd which makes



construction of roads difficult. In desert areas, therew is eacessive sand, scacre vegetation low density of

population which do not encourange roads. Frequent floods in flood prone areas cause heavy damage

toroads.
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SR 21 EEell W X Ao, et o 9T SHEE faRet B 8, ore® agenl a 3l & fAHior oY dreare=r wEl fiern | s

FITSE Ja9n o Ur: e 3t et B | Fored wgent qen el i Wi e e ®

2. Whatis atrans-continental railway ?

Ans. Trans-continental Railway. Trans-continental railway are those railway lines which run across the
continental and join its two ends. Most of these railway are built to strengthen economic and political
ties.

IRABTEANNG TR T BT 2 7

IR : IRABTENG YoFIRT 3 IEFRI hl hed B ol ohell AETEIig & U SR 6l gk SR A Sied # | 37 fAwior snfier v

T 3wl & forg fomar siran @ 1

3 What are the advantages of water transport/

Ans. Watertransportis the cheapest mode of transportation and is specially useful to transportation os
heavy cargo. Water transport is cheaper beoause the friction of water is far less than the friction of
land or air and the energy cost of transportation is much lower.

3)  WAURGET R RTAHE 7

IR o RaET o HE AL B, ATk G TAT ATG I TS ST T TGUT A B B | A oA IRaSA St St
AT o7 & 21l 8 | I8 IRAEA dhl Froll AT ¥ A BIH 8 | T8 I AT FEl aEg A b uRas & forg fagw v &
FTHRAE |

3. Answer the following questions in not more than 150 words :

1. lllustrate the Statement "In a well managed transport system, various modes complement
each other:

Ans. Inawell manager transport system, various modes of transport do not compete with each other.
rather they compliment each other. For example, railways are more useful for bulk transport and long
distances, Roadways on the other hand are more suitable for short distance. They act as feeder
transport to railway. Railway serve ports in addition to inland areas. All good ports are well connected to
their hinterlands by a close network of railway. In fact, the British rulers constructed India railway
radiating from the ports os that the resources of hinterlands of ports could properly exploited. Thus,
railway act as complementary mode of transport to ocean routes. Passengers traveling by air reach the
airport using road and rail transport. Thus,these modes of transport are complementary to air
transport.

3 ) FforRaa go=i & IR oW1 150 916ci | AT -

1) e Al faaren X | AT & AeEl o el gauE & i ade aae Sl g g A W 8 |

I “Ueh gUarerd IRas Ut # IRasH & fAf= IR & A1e, U - TR & Jfag@edl 7 81 U - G & 990
B B ISV It IR Tl U TAT I TG o Forg tfereh ITant 2 qad S ek qRas= o g0 o forg w3anm et



Once laid, the capacity of p[ipelines can neither be increased nor it can be decreased.
Security of pipeline is certain areas is a difficult task.
Itis difficult to detect leakages.

oA LN

Inthe event of damage, pipelines cannot be easily repaired.
)maﬁ?qﬁaﬁ%mwmmmﬁﬁm | (3)

IR UIEYATE qRaE @ T
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3) UIEUETEA geret @t AR srafd i e 8 |
4) T BRI URGE A 7 A G e BT B K T E R ypR A st B 2 |
5) @ 9gd A I B B |

1) TISUETEAl A IS A e B |

U IR S & 1 ZHehT &1 ! 7 Al STl ol Gehell 8 31 T 8l 9Tl ST a1 2 |

TS TEATHI | ST GRETT Tt HGEAT el ST Bl 2 |

qrETels-l A Rard o1 qa1 oRTT 37 Ueh oS G el # |

TE W AU & e SH & T AGAT AT ShisH B 21

6) What are the differences between Geographical Information system and Geographical Positioning

system (GIS and GPS) ?
Geographical Information Systems (GIS):

2
3
4

)
)
)
5)

Ans. Today, GIS has become an important field of academic study, one of the fastest growing sectors of
the computer industry and most importantly, an essential component of information technology. GIS
plays an important role are forestry and agriculture, geology, hydrology, human settlements, industry,
transport, marketing, business, government departments and militaryoperations apart from its increasing
popularity in the academic field. Geographical Positioning System (GPS) : the system which provides
unequalled accuracy and flexibility of positioning for navigation, surveying and GIS data capture.

The GIS has tramendous amount of application in GIS data collection, surveying and mapping. It is
world's first satewllite navigation system. GPS receiver anywhere on the earth surface is always visible

and receives signals from atleast 4 satellite.
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2. Which is the major regions of the having a dense system of network of airways ?
Ans. Western Europe, Eastern USA and South east Asia have dense network of air route. Major air routs
converge at or radite from a few important nopal points. The major nopal points incude London. Paris,
Rome, Moscow, Karachi, New Delhi, Mumbai, Bangkok, Singhapur, Tokyo, San Francisco, Los Angeles,
Chicago, New York, and Rio de Janeiro etc. Soviet Asia and Africa lack air services. There is a distinct belt
of air routes from east to west to in the mid latitudes of the Northern Hemisphere. The USA alone
accounts for about 60 per cent of the airways of the world.
3. What are the modes by which cyber space will expand the contemporary economic and social
space of humans ?
2) faga & 3 A/ T Y39 & WET AR 9O 9 AT S e 7 (5)
IR IR R, TE GG T SRR T 2 | HRA AR S I 5 I W hfad B § a1 981 4 fawmRa B # |
=7 v, AR, A, AR, R, et Fars, dehren, R, e, Ra R 99 anfe g # | e ol ik s
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Ans. Cyberspace, popular access systems of the internet allowq any individual with a micro-computer
and modem to plug into cyberspace, the world of electronic computerised spaces encompassed by the
intewrnet and ralated teehnologies such as the World Wide Web (WWW) Cyberspace may exist in an
office, asail-boator virtually any where.Cyberspace has expanded rapidly in size and in use and
importgance, including e-mail and electronic commerce, Thus, cyberspace exixt'everywhere' in short
telecommunication revolution has expanded. in the last five years there has been a shift among global
from USAto the developing countries. The percentane share of USA has dropped from 66 in 1995 to only
25 in 2005. Now the majority of the world users are in USA, UK, Germany, Japan, China, and India. As
millions of new users log on to the internet each year, cyberspace has expanded rapidly in size an in use
and importance, including e-mail and electronic commerce. In short, telecommunication revolution has
expanded the human, social and economic space to a great extent.
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afcrer W& 1 | 31 fawa & siftrenier waerr wgerd aed SMReT, o, TR, S, T SR AR A |



Hfer gftrad ARAl AT e Fewe A TE @ 2, I Tl FER B SEHR, TN T4 H5d A g 8 TS B | 38 i
£ - el T Folae v aTfored STt IS & | eI W, SRR il 3 AFEE, AT 3K e & ot shrdl faear e fan ? |
1. What do you mean by Road of highways ?
Whatis advantages of Road :
Ans : Road is a major medium of land transport. It varies from pathways and unmetalled roads to national
and International highways. Itis the quickest medium of transportation for shoter distance. The roads link
the fields and farms to factories, factories to markets, and the goods can be delivered right at the
doorsteps of the consumers. Advantage of Road. Road have following advantages :
1. Roads have helped in carrying the agricultural products to markets and making the uniform over
large areas.
2. Industries have gained a lot from the roads because it is very easy to carry raw materials to factories
and finished goods to markets by roads.
3. Itis easy to carry men and materials by roads.
4. Roads are most suited for short distances.
5. Thereis no need for producer tothe doorstep of the consumer.

4) AgH IR AESHRT | AT T T & TAT I T[0T AT E ? (3)

TN AT S AL | A gh AR G JAfersh TANT fERan Saret Jner 81 TRTeUel § e SeIfHieh Aex A1t aeh &t
I FgF AA HEd B | A B I & g e i F aRasw 9t gfden yem w2 1 @ 99 @i i ¥ FREE O 9
FHREF! & R AT AISRY T2 ST B gR T G| GRT & TEarl off Fehel 8 |
I 1) TEH! BRI HY - Il it fosht & T AR IS B Tl SR TGS Al A 9 - S & A Ve A

B |

2) uEEl @ fawm A sienfie fawm o oSt weEEt ot 2, wifn aewl 3R S & fore e W @
AT s =
R G B W 21

3) A T AEA o U T A T T el T ST & S ol e @ |

4) DA S o asE aaEE FE G 2 |

5) O ARG | AR Sl OR - TR JARRAT 98T Tl e g |
Ques. Describe the advantage and disadvantage of pipeline transport.
Ans. Exceptfor transporting drinking water pipelines are the most recent modes of transport. Pipelines
are mostly used for the transportation of mineral oil, natural gas and water. Advantages of Pipeline
Transport
Pipelines can be laid through difficult terrain as well as under water.
Initial cost of laying pipeline in high but subsequent cost of maintenance and operation is low.
Pipelines ensure steady supply.
It minimiser tranship losses and delays.
Pipeline operation involvos very low consumption of energy.

P o bW N

Itis quick, cheapl,efficient and environment friendly mode of transportation.
Disadvantages of Pipeline Transport ?
1. Thereis no elasticity in pipeline transport.



2. Once laid, the capacity of p[ipelines can neither be increased nor it can be decreased.
3. Security of pipeline is certain areas is a difficult task.
4. ltisdifficult to detectleakages.
5. Inthe eventofdamage, pipelines cannot be easily repaired.
5) TIET AT URAEA & U7 AAT AT Tl Jookd Hhitorg | (3)
IR UIEYATE qRaE @ T
1) UTETETEA Y ST, TSEES ¥ - W A T @ A o e snEwar 2 |
2) IRV H TS oM A Jiftrd o7 @ BT 7, Uhg 918 | 378 9] W 91 I W - TETd § o @ B e |
3) rEuETE et a0 PR ST e w E |
4) T BRI URGE A 7 A G e BT B K T E fFf ypR A st@ B # |
5)

1) TISUETEAl A IS A e B |

U IR S & §1¢ ZHehT &1 ! 7 Al STl ol Ghell 8 3 - 8l 9Tl ST Gl 2 |

TS T | ! &N Tt HGEAT AT ST Bl 2 |

rEqelE-l A Rard o1 qa1 oRTT 37 Ueh 98 GHer el # |

TE W AU & e SH & T AGA AT ShisH B 2|

6) What are the differences between Geographical Information system and Geographical Positioning

system (GIS and GPS) ?
Geographical Information Systems (GIS):

)
)
)
5)

Ans. Today, GIS has become an important field of academic study, one of the fastest growing sectors of
the computer industry and most importantly, an essential component of information technology. GIS
plays an important role are forestry and agriculture, geology, hydrology, human settlements, industry,
transport, marketing, business, government departments and militaryoperations apart from its increasing
popularity in the academic field. Geographical Positioning System (GPS) : the system which provides
unequalled accuracy and flexibility of positioning for navigation, surveying and GIS data capture.

The GIS has tramendous amount of application in GIS data collection, surveying and mapping. It is
world's first satewllite navigation system. GPS receiver anywhere on the earth surface is always visible

and receives signals from atleast 4 satellite.

6 ) Sfores o 9= T SRNfores RRufer o1 A & e 2 | Sooikd HifoTy | (5)
IR THH TART GG T SRR A DI A TR EHR Qoif-aal 21 favafremeral  forar S = | st o8 fven s
W T ARl faw o T B 3R FEeY AN § wed e A | I A @1 B | A8 qI0 G St

(Information Technology-IT) T 3THR T 2 | I8 Yo e A= & Sl Wiliforer dasd 3o Rufa & @R

TETM Y hS! hl Yeh{Sd hiel, THIAT thix, HITTdl A FANT thiel T YafEia et § wem™ 2 | ar-ent vd



& A A 37 g8 T A fava s IR |
siRiferes fRurfar <=t | (Geographical Positioning System-GPS)
T U TA1 O 8 ot fohat T ot fRufy, waeror e siaforen gue 9 & Wa W ageed Ud qfeded GO 9aH e © |
TE e GAR A 24 T TR fufa &t gum Sy e 2 | S T fe e &l e A s gr s i gfie @
3Tt TE B SR FH - A - FHH IR ST A et ured e 2 |
Ques.; What do you mean by water ways and water ways are two types Explain each details.
1) Ocean Routes 2) Inland waterways

River, canals and lakes are main medium of inland waterways. These were very important means
of transportin old days, but they have lost much of their significance with the advantage of roadways and
railways. Necessary Conditions for Development of Inland Waterways

i) River should have sufficient water throughout the year. Seasonal rivers are not much suitable for
inland waterways.

ii) Rivermustbe free from rapids, gorges, cateracts and waterfalls so that navigation could be easy.

iii) Rivermeandering should be minimum so that boats and ships can have straight passage.

iv) Agood river mouth connects inland waterways to ocean routes.

v) Freezing of rivers during winter in cold areas hinders inland waterways.

7) STSl ART | T T AHSAA & STl TRaE 2 YehR @ B & Ueolch hl qUI 9eld ol |
1) MERTRASTAART 2)  3NifoRes STowEl
STAART

el AT A R YART Y 1Y uRas & Aeml | | g i GIe A S 2 | SGET @ 8 A 9 e
AT I Y T T & TR T deh of W o forg Afea, el 18<i U E9@ ol TR el ST 8 | et IRas ek el
ez 2, TNk Tt AAT g F STUET A ST FUT e BIT 8 | I el IRAET Sl Sowl ANT ST BIel 8 |




1) HEERRA STAART
frfoRae RN & et aRae aga & G 9T giaene e IRasT @ -
1) WY SweaTEl 9 et & i & forg grfsTe @ siftren BT B | g8 W - UEa | 9gd 9 @ B Bl
2) Wora i S em A war A aaa ? |
3) T fRd Rt & e @t sawaeRdT JEl Bl | e Tl & Sl 899X O i giaer STee A 8
e B
4) IR, T @ B T TG, N - A, Fel, Tl UF g3 TS, WA — A, Hed, Woolt T I TN IS B
ReE
2 T e, SR T TR fafiree Sreretl & faera & et aitas ot e A Sifere guR e |
5) Tl o AN ¥ T W AT T T - IARAT WA B TN B, I FAR & THE T W T AR D €A
RaET 3 Xl A1 FFH ART TR Faeil A 1 giaen e 2 |
2) MR STAART
Afea, el T2 B T TART HAAT SR Sl SRS TNl hed & TRIFHe A JdiReh SR ol 981 Aa<d
BT AT, T ! AT FEh & T o ST Heed HS FA B TATE |
ATIReh STOART o faehTa oht 3ITae Ach T
1) Ffeat aReaE B ey | S Afeal § ot haet aw A E AT 8 IR TART R A1 SoRRT @ €9 | 6l foRar
T |
2) A 1 AR ST - g, A gar, fRiftaentst qur wEragel | o B =Ry SR e o Aet geatid e
iRt T ARG B @R |
3) e # foad of & B =nfey, s den Serwmt a8t a@ e |
4) A & HE A B AeY |, ek @ ATTRAE & AReh AT <hl Sl off €4 |
5) didente § Afeal 9% | Yohd @B A6y |

ll- Book
B-2 Transport and Communication Lesson No. (10)

1. Choose the right answers of the following from the given options :
1. In how many zones has the Indian Railways system been divided ?

a) 9 by 12
c) 16 d 14
A fag aTg foaeredl 3 & et IR & 9T |
1) SR I JUTTeRt <t feere wigalt & favifora ferar mar 2 7
(®) 9 ([@ 16
@) 12 (=) 14

2. Which one of the following is the longest highways of India ?

a) N.H.-1 b) N.H.-6 c) N.H.-7 d) N.H.-8
frfoRaa o A T - A1 RS o G e TCHABTHA & 7
(®) wE () w7
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1 3P dard Uy

Q-13/IPIy WUR HI IRUINT B |
Ans.1-a%g3fl 3R Jarsft &1 SR & § w1 ard &= H 3areng!

HUR Hgdidl § |

Q.2 -Had IMUR ¥ AT &1 9 & ?
Ans-2-TMUR & foU sifemaen & gad & |
Q.33 mg soa=n =1 ® 2

Ans-3-TMUR & UdHdH d&w o & axgefl ofiR Jarsit &1 feM UeH faan
ST o |

Q.4 -SAARC. @1 fasgd =u foral |

Ans- . -4- South Asian Associations for Regional Cooperation .
Q.5 3% &1 T&TT Fal f[Ud § ?

Ans- fag=T

Q.6 /a4y TMUR TTed He 3Mdd H [P

Ans-6 -1995

Q.7- fhdl Te 1@ Udq &1 9F Fdreh |
Ans-?-(fa'ﬂ
Q.8 -GATT &I fowRkd U fa |

Ans-.8 —General agreement for tariffs and trade .

eh! 3R AR & U Immg wHia
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Q.1-9ad AR 3R afierur fapreRia <= @1 srfagawn & ufdgd ®U 3 o4
gUIfad &R Tl §?

Ans.(i)-@ﬁﬁaﬂﬁmﬁﬁﬁ%m ﬂ‘rﬁﬁﬂﬁ@%@%@ﬁ
3R 96 T B

(ii)-JHTIRIE ¥ fay SMUR ed & ome ot aauie fedl ™R W@ &aF dd
g

(ii)¥gd ¥ fI@RE < 7 3O IRl & IUR & fau guf &9 ¥ god -6l
forag)

Q.2-ATUR IJa & g2 U8 3%d R Ufddd &9 & Sl § 2

Ans.2- (i)-3maTd 3R fafd gedi & SidR &1 MR Iga- Hel ol § |

(ii)--19 fafd g0 omrd el ¥ Sarel g1 § df ®el ofdl § % AUR Igad
IF ¢ |

(iii)-919 3 g fafd el @ oifte gt § 39 ufdda SauR Igad @ed ©
|

Q3-SR WUR & fi HAgw@yul uggsl &I W™

Ans.3-SMIR 1 HET -

a3l B aRdfde AET o1 RIS ST6R # UR fbar ol § |
HMUR bt FIET -

SIS R # WfE a¥gell SR Jars Bl HUR B FIFAT Hed o |
AR & fe=m -

OR ! foun @ Adad 8§ f& IR o9 &9 I W & &9 a1 © |
Q.4-UT B RPN WUR BT YaRIgR HI Hgl ol & 2

Ans- 4- (i)-fret S @1 M iR fafd gad: vaA 9 BT § |

(ii)--T]9 309 UF U ¥ YA R TSH GRI IS8T 8l ¢ |

(iii)--37 AR &1 IUTNT A SR fFuid & I § a¥geil &1 uRdgd & fou
far omar 7 |
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Q.1-3y TUR W8T & X HE TRl 3T TS B A=A F B S 82

Ans- Ans-(i)- T8 I8 & 19 T 910 IUR & IfYF o W AR axar § |
(ii)--TcTg S & o TSI BT FUCRT HaT 7§ |
(iii)--qod 3R U Yd WUR &I dgal T ¢ |

ST -
(1) -39 ¥ ¢ < 3R el o 81d § O ot ofR 9 <= & &9 3R
9 T T |

(ii)-gHTaRTe <X fay SmOR WMed # sue el auie fgdl R SEr e d
g |

(iii)--9gd ¥ fowR@ <= 7 30H TOIRI & AUR & U guf U ¥ gad -6l
far § |

Q2-3iRIPI WMUR & SMYRT B WY HIfoT |

Ans-2 : (i)-UTpfae wary=i &t faftear -

Y WReT @S ST SR &1 SR eRiaed faftean et <o & waal
o fafdydr & gRda aRdl ) Jaag uey S8R 9 S &1 UHIAd Bl § o
Ha1 3R W ™ &t H I THA B |

(ii)-STTHSI PRS-

faftm o= & SFe & PR fadRur 3R Iu®! fafdydr IuR & T8 axgsil
F UBR 3R HET B GHIRAT Hd T |

TYq §919 91 S H 3fidRe AUR e § Safe del TUR HH URAT T
g1 € Hife IdIed & Sa1&l YT R Rl & & 99 ol § |

(iii)-3fde AP &1 wR -

PN @I =P ¥ AgaRU o # faFmio Bt axgell & R N Iacl &1 Faid
foar Srar 8 oiefe IeNfe AY = Hid B A A © |

(iv)-Sdared o faRiwar -




FS o A TNl & Ided T & TG HR ot § o WuH R dF HI
WH RE P B dgd TS © |

(v)-aRaee -

a9 oRaed & WAl A fay & wfiw @ fRwr B . okt @R ufeen &
el g Rk wRar 7

Q3-3RITY UR ¥ F&d « f[amw o= @ g 2

Ans-

()- SR AUR &1 g4 I & U IREWRe dveErs giar § dafc I8
T fafifierur @ URd ®Rdr ® |

(i)- I8 /M & U SFHRS & THar g SR I8 G /M W filkar &t &R
SHG AT T |

(iii)-FAPT BT S TR W0 R AURE ufagliar g& &1 RO §9 Thdte
|

(V)78 R fay & vofRor @ dox af & WG R HAUl H gHfad R
J&dl g |

(v)- O S W 3k R & fou ufawmdf s9d o @ € S iR uidfas
It BT ITART dgdl o @7 § 3R Il F Ay g1 B R b GIRT @
R A e BN 7 |
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3. Ui SR TR |
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3. O HIBR |, AR HR URIS il |
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3. e |
Yo 4. WU RGN & A T T HHIE 2
3 . Hed AR TBI |
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3 . IR
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S . 3G 3R Y KA P |
o 7. fay & o=l q RO TRl & =8 §dT¥ |
3. FART, S & |
Uo 5. WM PR FEAT 2 3y & vom TR 1 91 9 |
3. 50 WG Y Y TR I TR B MR 8 § |
Ty TR . =g |
3 3% a1 Uy
Uo 1. faprasiie &= # yreior Skl &1 FHensfi &1 quH ST |
3. (1) ST MaUT qUaR |
(2) STQATYfd BT U |
(3) RMEmEg SR Sufkiy RueH 3 giawmsit &1 v |
(4) D TSP R MYFH TR JfAUTal o7 31T |
(5) e, TRy 3R TAReH gfaersit &1 31uTg |
To 2. Tgd 3R UDIT Serdl H Sk WE I |
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(1) U IUTS Hemi aradt uifieai A U St € |

(2) IR FUHHUDH AR Y Y U AT BIC BId 7, oI I8 &1 R HY
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(3) TR FAM FTTH TIFNE | T VI B AT |
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yeiof afRmi
(1) T Uddra a1 3= YW Ud Yd quT 31l Ioh TSRyl B Urg St g |
(2) AT T AGH U6 R AR AU FGA 8 8, o 87 &1 RIF 31 g

g |

(3) 39 I A AN BT YT aTd URATE adl ddhe! Ble-T g | J8f Wd 99 8id
g |

(4) U P T B Ifrd a1 Bt § 3R Tferat 91 gldt @ |

Uo 3. TRIY &l &1 aiffeprur SIfoT |
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B =R T |
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JUGH TR BT 50 & W HTHR SV Sl & G @ |

(3) = fAofy . ge oMt X o seliar,  didifaar sife # S A B
YR g B Y TR BT ST |

To 4. 3 3farer oR feguop forfam |

3 . SEN-TT, SETET-UW : T 41 7R g o ™1 1878 Hgs ot | Jquf TR
T4 RIATHid R fUd § TS®! &1 YU R eR1ad I THIfAd 8 | Sidl gaTs 3181 guf
U Y UH A1 gals 3S1 8 | 3T TR HI doil § A ganeg , ife gg sAifrar & a4
FfRag |
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Uo 1. U SR&GTl B siafufa &Y Ruifd &7 are Ui sR&! &1 aufa & |

3. (1) o9 YL
(2) of#
(3) ST YA F &7
(4) T8 fAmror amht
(5) &l
(6) Ao st
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|

3. RIS Y T Th o B TR &5 H FaT a3 arell S &1 Suia® gia
9% |
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